Winmeen VAO Mission 100 | 2018

Simplification Solved Sums

1)Ifl+l+1=4thenx=?
3 2 x

5
=>24+2=14
6 X
1_,_5
X 6
1 19
Z=>2=> x==
X 6 19
2)1f &=2 &b — > Suba=9,b=5
b 5 "a-b
_ 95 _ 14 _ 7
- 9-5 4 2

3) 202 +30-— 15:=?
2 3 6
=>20430-15 (= +=—2)
2 3 6

3+2-1

=>35(——)

=>35% =~ 352
5 3

4) If 3x = 4y then find 2L

14x+3y

3 = 4 => £
X Yy y

4X4+5X%X3 3

\%

14X4+3X%X3 6

NG

5) Ifx % y= x°+ y*— xy then the value of 9 * 11 is
X+y=x>+y>—xy

X2 +y —xy=(x—y) +xy

x 54
If === ,x=7?
169 39

=>4+99 =>103

249 7
X = 639X —X-
497 3

=747

6)2 of = of x =639;x="?
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Eofﬂofx=639

7 249

a0 2197
X =039X0997%3

=747
7)4-[6-{12-(10-8-6)}]
=2

8) 23+22:11=7
4 3 12

11 3 12
=> —X=X—

4 78" 3
99

104

9)23+22:11=9
4 3 12

(835 +378)2 +(835-38)2
(835x835)+ (378 x378)

A=835, b=378

_ (a+b)2+(a-b)2
- a+b 2

= a® +b?3ab+a? +b? —2ab/a%+ b?

_ 2a%+2b? 2(a’¥ b?)
T aZ+b? (a%r b2)
=2
a_4 b_15 (2-bH _,
1O)b_5 "a 16’ (c2—a?)
a:b , b:c
4:5 ,15:6
a b:c
12:15:16 sub—= => L
400 25
113 x 54 _,
Vi 169 =39 % =
X _54
169 39
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X 54
13 39
54
Vr =33
X=324
12) |ff=§ =y 14 _,
y 7’x+y 19
x_s_sz_12
2y 7 y
sub 24251
12+7 19 19
13)(180 X15—12X20) =7
140X8+2X%X55
3009 % 15-12)
~ 7 2(70 x 8 X 55)
O<135_12> 10 123
P — X ——
615 615
=2

ey

14 )valueof 1+ ——F—
1+

=> 1+

=> 1+

=> 1+
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1
8
1+I§

=> 14+

=>1+2
21

21+13
>
21

84
=>—
21

15)5005-5000+10="
+ first
5005 — 5000/10 = 4505

16 ) Value of 999% is question should

Be,

[999% X 999
999

999x999+995
=> ——X999
999

= >998001 + 995

=>998996
17)1f3-[1.6-(3.2+2.25+x)]=0.65
Then find x =7

[1.6- (3.2 + 225 = x)] = 0.65

= 3-[16-(3.2+3.2- 2.25/x )]=0.65

=3—1.6—2'xﬁ=0.65

=14-%-065

X

14 —0.65 = 22
X

225
=5
X=3
18) If2=2=¢
3 4
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a+b+c

then =?

equalto 1

a_l_b_l_c_1
3 4 7

a=3;b=4;c=7;
a+b+c _ 3+4+7 _ 14

then —— e -
c 7 7

=2

19 ) findxandy?

> _3
20 vy
Y=12
20) simplify5+(9-16+2 -(3-2)
=5+(9-(6+2-(3-2))
=>5+(9—(6+2-1)
=5+(9-(7))
=5+(9-7)
=5+2
=7
21)If p=9,valueof p(p?+3P+3)=7?
=>p (p?+3P+3)=0
=>p’+3P°+2p+1 =1

Add 1 on both sides
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(p+1)=1
(p+1)P-1=0
(1000-1)=0

=999

22) ifx+i= 5,x3 +— =?

x3
For 3" degree

1 1 1
X3 +—=> (x+—)3—3(x+—)
x X X

=>125-3(5)
=>125-5
= 110

23)Ifi+§=E and
x y xy

4 9 63

—+—=— then

Xy xy

X—y=7?

4 6 18

= 1
Xy xy

4 9 63
T 2
Xy xy

multiply 1 and 2 by xy

4xy N bxy 18xy
X y  xy

4y + 6x = 18 ---—---- 1

4y +9x =63 ----—--- 2
solving we get,
3x=45

x=15

subx=15in 1 we get
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y=-18

sox—-y=15-(-18)

X4+x%41

?
x2+x+1

24)

formula,
X'+ x24+1=(x2—x+1Dx%2+x+4)

(x2—x+1)(x2+x+1)

— - 2 _
=2 (x2+x—-1) =>x x+1
. 1 —9
25) find 1+ it
1+§
1+ 1 14+——
1 9
1 +“1II 1'+'T6
9

1 10
1+1_£_1+E

10
=> 29/19
26)a+b=;a-b=4

valueofab="?

=>a+b=7
=>a-b=7
2a=4

_4 » N 11
a—z SO D = )
=p=2

2
b_11X3
W=513
_>33
T 4

(x*+y?)
(x2-y?)

X 1
27); =3 ,value of

X=1; y=3
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_ 12432 149 _ 10
T 1232 1-9 -8

- 4

28 ) value of
(0.98) + 3(0.98)* (0.02) + 3(0.98) (0.02)% + (0.02)°
Here a=0.98

B=0.02
So a’+2a” b+3ab *+b’
=>(a+b)*=>(0.98+0.02)°

=1

29)if ax + bx + ¢ = 0 has equal root then cis ?
Whenb =0
B’—4ac =0
b’ = 4ac

_b2
" 4a

x%+425 xX+5
y =?
X+3 x2+9

x% —5% x%-32
X
x+ 3 x+5

- (x+5)(x-5) _ (x—3)(x+3)
- x+3 (x+5)

c

30)

=> (x-5) (x-3)
31)IfV24—10a=3—4a, 3—4a >0 findA=?
=>3-42a>0
By this we can eliminate the options and can the find answers — 5/8

32)x=1++/2 thenthe value of (x+%)2 is

x=1++/2 ,conjugate of x = 1/x

Z=1-2

X
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So(x+2)°=(1+V2+1—v2)°=(2"

34) If3(t-3)=5(2t+1)thent="?
3(t-3)=5(2t+1)
3t-9=10t+5

-14 =7t

1.75X 1.75+2 X 1.75 X0.75+0.75X0.75
1.75X 1.75-0.75 X 0.75

Herea=175 B=0.75

35) The value of

a2+2ab+b2 _ a+b a+b 2

S a+b

fo) = = =
a2—b2 a-b (a+b)(a—b) a-b

_ . 1754075 _ 2.25

T 7 175-075 1

Ans = 2.25

37 ) The value of 16>+ 7 - 233 =?
Ifa+b+c=0then
A%+ b’ +c® = 3abc
So3abc=3x16x7x-23
=-7728.

37)if (é)"‘x (é)sx: (17—2)5 then value of x is

If base are same, equate powers

-4+3x=5
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3x=9

X=3

syt o) +4() 7 +6)
=>5+4+7+6 (C+S+3+ x>

=2 Xyt
8 47

40 ) Find the value ? /=67 — 3/25 + 3V=8

= /=67 — V25 +3/-8 HINT: (take first number /=67 = —4)
=3/=67 — 3327
=/—64
=-4

41 ) Find that value : V77-/150 + /365 — V25 first number 77

V77 — /150 — V366 — V25 take lets square 64 =>8

=>+/77 — V150 + V361
=>77 — V169
=77 - 13
=V64 =38

42 ) value of x ’y\/zx/a is

Multiply powers = > xyz v/a

43 ) Find square root of 281 x*2 y® x'* ?

V281 x12 y6 z14
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=>+/281 X12/2 y6/2 Z14/2

=>17x° y3 7

44 ) Value of v8x3 x 27x3 X 64x3

= /8x °X 27x "X 64%">
=2x X 3x X 4x

=24x°

45) Value of\/1+\/I+\/5\/ﬁ+\/1\/§ is

= \/1+\/I+\/5\/ﬁ+\/1+3

=\/1+\/I+\/5\/R

=V1+V1++9

=V1+V4
-VTF2
-3
46) Evaluate : (1//10 + V20 + V40 — /5 — v/80)
~ 15
"7 V10+2v5+2v10—v5—4V5
h_ W N
~73y10-345

> 15 VI0+/5
3(v10-3,/5) © VI0+V5

_(V10+/5)5 _ S (V10+/5)5

10-5 5

= V10 ++/5
47) Thevalueof Va—1XVB—1X+/C — 14
=>vb/a XVC/B XVA/C

:>1

11 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

48) The value of v242 + V152 + V144B
=>+/248+/52 + 12
=> /248 + 82
=>+/256

=>16
49 ) The value of v 609 + V248 + V60 + v7 + V4

=> /609 + /248 + V60 + 7 + V4

All are ‘+’ sign nearest square

Value of 609 is 625
So V625 =25

50) Simplify : Y128 + V64
=> /128 + /64
=>3/64X2 + V64
=> V64 + V2 + V64
=>4X32 +4

=>432 +4
51)Ifa*=6,b’=c, ¢’ = athen what is value of xyz = ?
=>a"=b => x=log,b
b’=c =>y=logyC By identify A*=b ,b'=c,c’=a
C’=a =>z=log.a xyz=1
Xyz = (logsb . logpC) . log.a

= log.a.log.a

=log,a

=1
52)964°-36°=7?
A’—b’=(a+b)(a-b)
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=(964+36)(964—-36)
=928000

53 ) Simplify : 87 x 96 + 4.8
=>87 X :—Z
=> 87 x 960/48
=>1740

54 ) If x+i=2,thenx+i=?

Xx+-= 2(onlyifxandi= 1)

x
55) If izz then (§+ﬁ) —7

Subx=3, y=4

Then (S+£)=>§+%

=>; =1
56)Ifx+§ = 2,thenx3+% =7

For x+§=2,x= 1

Sox3+ x—13 =2
57) Simplify (0.111)% + (0.222)* — (0.333)® + (0.333)®
Whena+b+c=0

a’+b’+c®=3abc

0.111+0.222 +0.333=0

=>(0.111) 3+ (0.222)*—(0.333) *= 3(0.111) ( 0.222) (-0.333)

=> [3(0.111)(0.222)(-0.333) + (0.333)* x (0.222) ] ?

=> (0.333)(0.222) [ 3(-0.111) + 0.333 ]

=>(0.333)(0.222) [ -0.333 + 0.333 ]

=0

58) 11°—4° /4X 2 =7
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__121-32 _ 89
- 8 8
=>11l
8
59) Evaluate : (8-1)(8-2)....... (8-9)(8-10)

In this series ( 8 -8 ) will occursso (8—-8)=0

60 )If4+3=6427, 8+7=6449,3+1=271
Then4+3=7?
4:3 =>(4)*(3)?

=>169
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